Assignment
Solve each system by elimination.

1) 10y + 11x=-31
-8x=11y—-11

3) Tx=-4y+30
~10y + 16 = —12x

5) —18 + 12x=-14y
_X=y

7) —8y=5x+13
36y — 12x=-24

9) 5y + 12=-9x
24 -3y=11x

11) -90x =-90y
-1-x+y=0

8 3
13) —X=—y——
) . y

15+40x+55y=0

15) —4x+ 12 =-6y
Sy+10-5x=0

7 7

17) X+-—y=—
) 12y 4
Oy =8x+27

19) 19=-8x-9y
0=6x+17+7y

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 1

Date Period

2) 0=-5y+36+9x
18 =—-6y + 4X

4) 28 =4y — 8x
-5=x-Y

6) 9y —1=10x
-2=06x+4y

8) x-y=0

Lx_l L
BT

10) 0=63y+9+9x
36X+ 72 =-252y

12) -32y-32x=0
24y =-24x - 24

14) -8 =-24y —32x
—40x — 30y = 60

16) x=y+4
S5Xx=8y+1=0

18) —16x +24 =14y
-8y =10x—-24

20) -6 =—-6Yy — 12x

math-worksheet.org



21) —6x+3y=-27 22) 9 -9y =13x

10x — 20y =-30 —60 =4x - 12y
23) 0=-16-8x—4y 24) -5y =5+ 8x
8+ 10y =-12x 3
O:y+1+Zx

LT wsgsgs ath-vsorlsheel ory
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Answers to Assignment (ID: 1)

1) (-11,9) 2) (-9,-9) 3) (2,4) 4) (-2, 3)

5) (~9.9) 6) (~1,1) 7) (-1,-1) 8) (6,6)

9) (-3,3) 10) No solution 11) No solution 12) No solution
13) Infinite number of solutions 14) No solution 15) (0, -2)
16) (11,7) 17) (0, 3) 18) (12, -12) 19) (10, -11)
20) (-3,7) 21) (7,5) 22) (-6, 3) 23) (-4, 4)
24) (0,-1)
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Assignment
Solve each system by elimination.

1) -7+ 12x=-5y
8y =—-8x

11 5
3) X+ —=—=
) - Y

12-12x - 12y =0

5) 12y =20+ 5x
6X+24 =10y

7) Ix=-7+11y
3x=3y+9

9) 0=8x+9y+3
36 + 6y = 6X

11) 28+2y—-2x=0
5x—30=-3y

13) 10x=-34+7y
§—-6x—10y=0

26 7
15) X +—=—
) 3 =3

=7X+9y =24

17) 20x=—16y — 4

x+i +l—0
s77s

19) 40x=-60y
0=284x+126v

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 2

Date Period

2) 0=-9y+7x-6
12y + 12 =9x

10 9
4) 0=y—— ——=X
) 0=y g

4+2y=6X

5 7
6) -1 +—x=—
) gX=3Y

7
-y=1-—X
¢ 10

5 2
8) 0=-X-————
) 3 3
0=-10-11x-9y

10) 14y =22x+ 52
=27 =X =-6y

12) -8y +8x=0
10+ 10y - 11x=0

14) —18x — 72 = 24y

Y=
16) 7y=5x-2

=27y +72+6x=0

18) 10y =-22x+ 14
15y + 12 =-33x

20) 12 + 84y = —96x
0=-22— 154y — 176X
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21) 4x=11-11y
9+5x=9y

23) —12x=24+ 12y
I1IX-=5+8y=0

LT wsgsgs ath-vsorlsheel ory

22) -5y =15-15x
12x =4y - 28

22 24

24) ——Xx——y=2

13 13
10y =28 + 8X

math-worksheet.org



Answers to Assignment (ID: 2)

1) (1,-1) 2) (-12,-10) 3) (-8,9) 4y (2,4)

5) (-4, 0) 6) (10, 6) 7) (10,7) 8) (-5,5)

9) (3,-3) 10) (-3, 1) 11) (9, -5) 12) (10, 10)
13) (-2,2) 14) (-8, 3) 15) (3, 5) 16) (6, 4)
17) Infinite number of solutions 18) No solution 19) Infinite number of solutions
20) Infinite number of solutions ~ 21) (0, 1) 22) (-5, -8)

23) (7,-9) 24) (1,-2)

W2 gegevs path-siorksheeh.ory th-worksheet
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ID: 3

Name
Assignment Date Period
Solve each system by elimination.
1) 21y —12x=-87 2) -7y=—-10x+38
4=-10x+8y -3y —-3x=18
3) -7x—-10y-7=0 7 19
12=—11y+ 12x 4) X+ 7y =0
11X+ 34 =-2y
5) -8y +4x=-8 6) —6x+7y=2
—-3X+27 =35y 46 =—-10y + 14x
9 11 8) -8y +9x=10
N x=7Y "7 =° 31 =11y + 10x
-9=-8x+7y
9) 12+10x-8y=0 10) -11y=8x-3
18 =9y —9x 36 =—-4y — 6X
11) 4+ 12x=-2y 12) 50 =10y + 10x
33 7 7y +4x =20
_:_y__x
5 5
13) —-15y-63+33x=0 13 5
14) y=— —-—X
—1=-3x-y )Y 12 12
=7y +7=3X
15) 10y + 5=-5x 16) 3y —2x=30
36y =18x+ 18 —-17 -7y =5x
17) 0=2x+16-11y 18) —21x=-18y - 36
—5Xx-7y=-29 Sy+10=2x
19) -33=12x-27y 20) —5y=-2x-16
-10y + 5x=-10 -9x=-27-6y
3 1 22) 0=-20y + 28 — 4x
21) gy—zx——l —1+x=-5y
—27=-9x + 6V

b2 wsgsgs ath-vsorlsheel ory
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23) 0=48y — 12 + 60X 24) —12x = —4y — 28
—25X — 20y =5 10 18

LT wsgsgs ath-vsorlsheel ory
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Answers to Assignment (I1D: 3)

1) (2,3) 2) (-2,-4) 3) (-1,0) 4) (-4,5)
5) (4,3) 6) (9, 8) 7 (2,1) 8) (2, 1)
9) (2,4) 10) (-12,9) 11) (1, -8) 12) (5,0)
13) (1,-2) 14) (-7, 4) 15) (-1, 0) 16) (-9, 4)
17) (3,2) 18) (0, -2) 19) (4,3) 20) (7, 6)
21) (11, 12) 22) No solution 23) Infinite number of solutions

24) (2,-1)

2 gagsgs path-wersheeh.ory th-worksheet
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Assignment

Solve each system by elimination.

1) 108X — 54 — 126y =0
0=-98Y + 84X + 42

3) 1=4y-3x
—24 4+ 96y = 72X

5) 18=-7y+ 3x
-3y=—x+10

7) —15-9x =3y
—4y+2=-10x

9) 8y +9x=-18
48 + 10x =—12y

11) -8x=—-60 -6y
-2y =-9x+20

13) 4+8y+11x=0

30 + 10x = —14y

1 3
15) —X 4+ — ==
) 5=

24 =-33y - 27x

17) —18x + 22y =58
—96 + 30y = 33X

19) -3y=3x+6
0=11x+5y+34

21) 4—10y—-8x=0
3=0x+11y

2 gegsus. path-worsheet.ory

Name

ID: 4

Date

Period

2) —84 — 126y = —147x
20 =35x - 30y

8 29
4) y=—X+—
)y 3XH 3

=7x=4-15y

6) —12=-2y + 3x
0=6-6y+4x

8) 11x=3y+36
5-10y=>5x

10) -3x—-6y+15=0
-14 + 10y = —4x

12) 5x=—-4y—-32
-19 - 7x=-3y

14) 0=-6x—-6y+6
9 7
-—+—-x=0
4 5 5

16) 18 + 6y =—4x
36+ 5y =-9x

18) 10=—x-y
-4y ="T7-"7Tx

20) 4=12x+7y
-10x=-16 + 9y

1 3
22) —y+—x=-1
)2y 2
2y =-10 - 8x
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23) 4x=-18 + 5y 1.5
99 4+ 21x = 24y 24) 1= x=—1Y

0=5+7y+09x

LT wsgsgs ath-vsorlsheel ory
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1) No solution

4) (-7,-9)
8) (3,-1)

12) (-4, -3)
16) (9, -9)
20) (-2, 4)
24) (1,-2)

Answers to Assignment (ID: 4)

2) Infinite number of solutions 3) Infinite number of solutions
5) (-8, —6) 6) (-6,-3) 7 (-1,-2)
9) (6,-9) 10) (11 —3) 11) (0, -10)
13) (4, -5) 14) (2,-1) 15) (-7, 5)
17) (-2, 1) 18) (-3,-7) 19) (-4, 2)
21) (-7, 6) 22) (-3,7) 23) (-7,-2)

27 vsvsgs math-vserksheel ory
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Assignment

Solve each system by elimination.

1) 15=-5x—-4y
0=-5y—31+6X

3) —-15=8y—-9x
S5—-11x=-12y

5) -7Tx=-11y + 28
24y + 24 = —6X

7) 16=—16x — 144y
21X —42-189y =0

9) 21x—-21=21y
9y =-18 - 9x

11) 0=2 -2y —5x
0=-12x+5-35y

7 9
13) -1+ —y=—xX
) 29y 29

22=11y - 12X

15) 0=12y —32 - 8x
11y =24+ 10x

8 1
17) x+—y=——
) 9y 3

0=—-6—-8x—-06y

6
19) ——x=y+2
5
24 =—14y — 16X

17 9
21) Xx+— +-y=0
) X+ -+
24 -6x=12y

2 gegsus. path-worsheet.ory

Name

ID: 5

Date Period

2) 14=-5x+9y
2=-8x+11ly

1 3
4) —=-y——X
)4 y 4
—15x=30y - 15

6) -2y —4x=0
—-6Xx—-3y=0

8) 0=20-20y+ 30x

-8y + 12x=-8
10) 8x=33 -9y
108 — 36X =36y

12) 4x=6y+ 16
15 =-10y + 5x

11

14) ——x=y+16
2

14y — 60 = —6x

9 3
16) = + =y =—x
)5 5y

15 -7x=-5y
10 58

18) 2y + —x=—
) 2y +—X=—
32 + 8y =-22X

9 7
20) 0=1+—x——
) 31 31y

16X+72 -4y =0
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23) 0=-2x+7y+21

3 1
10y + 30 = 9x 24) X ==¢Y

—IXx—-4y-22=0

LT wsgsgs ath-vsorlsheel ory
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Answers to Assignment (ID: 5)

1) (1,-5) 2) (8,6) 3) (7.6)

5) (-4, 0) 6) Infinite number of solutions 7) No solution
8) Infinite number of solutions 9) No solution 10) (-6, 9)
11) (0, 1) 12) (7,2) 13) (-11,-10)

15) (2, 4) 16) (0, -3) 17) (-3,3)

19) (-5, 4) 20) (-5,-2) 21) (-2,-1)

23) (0,-3) 24) (~10, 12)

W2 gegevs path-siorksheeh.ory

4) (-3,2)

14) (-
18) (-
22) (3,9

>~ &
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Assignment
Solve each system by elimination.

1) -16 -6y =11x
21y + 15 =—-18X

3) —30x+ 102 +24y=0
-12x-21-11y=0

5) -2 -8x=9y
-6y =3X+6
7) 18 =-2y—9x

0=-4x-5y+29

9) —10x =5y
4y +4 = -6X

11) 0=-y—X
20+ 7y =-5x%

13) 28 +4y—-4x=0
25 +5y=10x

15) —24 =—12x+ 8y
-33 +33x =22y

17) 21 =—14y — 35x

3473
5 27
19) x+—-y=——
) ) 2

0=-3x-3y—-15
21) 5=5x+5y
-11x-9y=-15

2 gegsus. path-worsheet.ory

Name

ID: 6

Date Period

2) 12y=10x-38
=7x+20+10y=0

4) 9y =-8x-25
0=3x+8y-2

6) —20 +2y=-2x
-3y +5x+30=0

8) 12—-12x—-12y=0
11x+13+5y=0

10) -9x+25=-2y

-2 =22y —-8x
12) 18y =-9x

-12y - 6x=0
14) 24x =-24y

80y = —80x

16) 0=-51-21x+ 15y
0=9x+27 -6y

18) 8y +1+3x=0
TX—=13=-11y

20) —12x+7y=3
3=9y—-15x

22) —52=-6y + 22X
20+2y+2x=0

math-worksheet.org



23) —6y =10+ 4x 24) -5y =2x-21
13 9 -14+4y+3x=0

LT wsgsgs ath-vsorlsheel ory

math-worksheet.org



Answers to Assignment (I1D: 6)

1) (-2,1) 2) (-10,-9) 3) (1,-3) 4y (-2,1)

5) (2,-2) 6) (0, 10) 7) (-4,9) 8) (-3,4)

9) (2,-4) 10) (3, 1) 11) (-10, 10)

12) Infinite number of solutions ~ 13) (-2, -9) 14) Infinite number of solutions
15) No solution 16) (~11,-12) 17) Infinite number of solutions

18) (5,-2) 19) (2,-7) 20) (-2,-3) 21) (3,-2)
22) (-4, -6) 23) (-1,-1) 24) (-2, 5)

W2 gegevs path-siorksheeh.ory th-worksheet
matn-worksheet.org



Assignment
Solve each system by elimination.

1) 9-9x+8y=0
12 =-12x—- 6y

3) 6+10x—-4y=0

34 6
y-——+—-x=0
7 7

5) 5y —36 =4x
12=-5x-2y

7) =72 =—-6y — 24X
22 =-18x— 14y

9) -6y =-22+ 10x

—-6Xx=-5y+4
35 2

11) - — —=x=-
) 5 9 y
20 7
——=-y+—X

11 11

2 4
13) -y——Xx+—=0
) -y 3X+3

SX+5y=5

15) 16 = 14x+ 12y
—18x =18y - 36

17) 0=-6y —21 + 3x
0=8y—-35+5x

19) -96y =-96x
—-36y+36x=0

2 gegsus. path-worsheet.ory

ID: 7

Name
Date Period
10 11
2) -1+—y=—"7X
) 19y 19
21y =-93 - 30x
4) 9x=-2y+31
22 68
—_—X——=—
3 3
6) 3y=3x+21
—8x=20-35y
8) -3y=9-6x
—4y=-10x+24

10) 6x=-8y—22
6y=-7x-19

12) -11y+14+8x=0
6X -9y =—18

14) 0=y+x—-1
—Sy=-25+7X

16) 0=5+7y+8x
11 +4x=y

18) —-10=5y+ 10x
3y—-T7x=-6

20) —180x =—120y — 60
_28y =—42x + 14
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21) 0=-y—-2x+1 22) 27 — 54y =-27x

-36X —36 =18y —-60 — 120y + 60x =0
23) 20y =10x 24) -3y =-5x—-6
16y =—-8 + 8x —6X—16 =-8y

LT wsgsgs ath-vsorlsheel ory
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Answers to Assignment (ID: 7)

1) (-1,0) 2) (-1,3) 3) (1, 4) 4) (5,-7)

5) (-4, 4) 6) (5,12) 7) (5,-8) 8) (6,9)

9) (1,2) 10) (-1, -2) 11) (5, 5) 12) (12, 10)
13) (-1,2) 14) (10, -9) 15) (-4, 6) 16) (2,-3)
17) (7,0) 18) (0, -2) 19) Infinite number of solutions

20) Infinite number of solutions 21) No solution 22) Infinite number of solutions
23) No solution 24) (0,2)

W2 gegevs path-siorksheeh.ory th-worksheet
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Assignment
Solve each system by elimination.

1) 0=-2y-8+10x
20 + 5y =9x

3) —-7y=11+4x
-y—-x=-1

5) 24x+24y=-72
23 =6y + 11X

11
7) —2y+1—?x=0

3 8
O=1+—X+—y
25 25

9) -5x+11y=-25
0=12+6y—3X

11) 0=-12x+ 10y —22
-6y =-5x+11

13) 0=52 - 18y + 22x
12x=6+ 6y

15) -10y =-22 — 3x
-6y + 36 =2x

17) -3x-17-7y=0
0=8y—-5x+11

19) -81 -36x=27y
8X+7y=-9

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 8

Date Period

2) -3y+19+4x=0
0=7x-10y

4) 0=-36—-06x—4y

1 lx_ 3
6~ g

6) -9y —3x=-33
-2y =6+4x

8) 23+5x+9y=0
0=-22-6x-8y

10) -3x=y+9
0=2y-2x-6

12) x+1=-y
36 — 6y =12x

14) -11y=-22 + 11x
0=36+6y—6X

16) —10=-6y — 22x
=78+ 15x+12y=0

5
18) x=1-—
) 3y

9y +8x=8

20) 10+ 11x =10y
-11=-6x-11y
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21) 14x —34 =8y 22) —10x=-2— 12y

—15 - 6x=-33y —-10y — 19 =9x
23) -35-11x+6y=0 24) 0=32+3x-"7y
=52 4+ 16y =—-12x —2X=-22+4y

LT wsgsgs ath-vsorlsheel ory
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Answers to Assignment (I1D: 8)

1) (0, -4) 2) (-10,-7) 3) (6,-5) 4) (-6, 0)
5) (-1,-2) 6) (-4, 5) 7) (5,-5) 8) (-1,-2)
9) (-6, -5) 10) (-3, 0) 11) (-11,-11) 12) (7, -8)
13) (5,9 14) (4, -2) 15) (6, 4) 16) (-2,9)
17) (-1, -2) 18) (1, 0) 19) (-9,9) 20) (0, 1)
21) (3,1) 22) (-1,-1) 23) (-1, 4) 24) (1,5)

> o ath-vcrshees.cry th-worksheet
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Assignment

Solve each system by elimination.

1) 9y =27 +7x
0=-2x—11y+33

3) x+y=0
—20x+20y=0

5) 9-9x=-4y
—-6X+6=06Y

1 1
7) —=—X+—
)2 5y
27y — 54x =54

9) —24=9x -6y
4
—X=3+
5 y

11) 11 =-9x -8y
-6y + 30 =-6X

13) 21 =11y —10x
0=72—-16x+8y

15) 24y - 18 =21x
—24y =-12x

17) —2x-22=-2y

-9x-1=35y

19) 5x=3y+7
—-16x=-32 -8y

21) 5y=-8x+12
-20x -4y =4

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 9

Date Period

2) 14y=21-17x
6-2x—-4y=0

4) —12 — 6y =—4x
—10y + 68 = —14x
6) 12x =12+ 6y
3
-34+3x—=y=0
2y

8) 12x=-48 + 12y
10y =-25 - 3Xx

10) 0=12y+8x—32
0=29-9y-5x

12) 0=-5+7x+ 6y
1 ix_ﬁ
150157

14) 27y —45=15x
12=5y —4x

16) 9x=18 + 10y
-6y +5x=10

10
18) —2 - —y=x
) =Y

12X =—-6y —24

20) —4y=11x-25

A
R TRORET

22) 18 +9x+9y=0
2

2y +=x=12
Y 3
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5 24) -35=—-12x+7
23) —x—2y=—— ) Y
8 4 15 75
—Yy+—=3X
0=7x+4y—-1 7 7

LT wsgsgs ath-vsorlsheel ory
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Answers to Assignment (I1D: 9)

1) (0,3) 2) Infinite number of solutions 3) Infinite number of solutions
4y (-12,-10) 5) (1,0) 6) Infinite number of solutions

7) No solution 8) (-5,-1) 9) (-10,-11) 10) (-5, 6)
11) (-3,2) 12) (5,-5) 13) (10, 11) 14) (-3,0)
15) (-2, -1) 16) (2,0) 17) (-4,7) 18) (-2, 0)
19) (5, 6) 20) (3,-2) 21) (-1, 4) 22) (3,-5)
23) (-1,2) 24) (0, -5)

W2 gegevs path-siorksheeh.ory th-worksheet
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Assignment

Solve each system by elimination.

1) 0=-12-4x-11y
33=-11x-15y

1 2
3) —l+—Xx=——
) 7 21y
3y=8x—-6

5) 5y+24+6x=0
-3y —-11x+30=0

7) =27y =27x-27
-23 =-5x+4y

9) 36+ 20y =-24x
45 =90x + 75y

11) -110y — 11 =-33x
3x=1+ 10y

13) 30-3x=7y
0=2x+21-9y

15) —10y + 32 =4x

3.9
y+—X+—-=0
2 2

17) —10x +27 =9y
4x=-y+3

19) x=3+2y
7y+15-4x=0

2 gegsus. path-worsheet.ory

Name

ID: 10

Date

Period

2) 8=7y—10x
I9x=-18+9y

4) 4x-3=5y

—7=Ty—6X

6 9
6) 3=—Xx+—
) 3=2x+2y
0=-9x—-5y—-28

8) 10y=-4x+2
-12y - 7x=13

10) -9 + 18y =-9x
14X + 28y = 14

12) 80y — 30x = 30

0= x+2 +§
- 373
14) —4x=-4y
Sy+2-6x=0

16) 10y —17=-11x
9-2x=3y

18) 0=6-8y—11x
X —-15=-7y

20) 7x+ 6y =30
-8y =10x—40

math-worksheet.org



21) —16 =7y — 10x 22) 24 + 10y = —8x

4y =8x—-32 34 +7y =3X
23) 9y +15=-12x 24) 6y =9x
=5y +7x=-10 —12x=-24 -4y

LT wsgsgs ath-vsorlsheel ory
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Answers to Assignment (ID: 10)

1) (-3,0) 2) (2,4) 3) (3,6) 4) (7,5)

5) (6,-12) 6) (-7,7) 7) (3,-2) 8) (-7,3)

9) No solution 10) Infinite number of solutions 11) Infinite number of solutions
12) No solution 13) (3,3) 14) (2,2) 15) (-7, 6)
16) (-3, 5) 17) (0, 3) 18) (-6, 9) 19) (9,3)
20) (0, 5) 21) (10, 12) 22) (2,-4) 23) (-5, -5)
24) (4,¢6)

W2 gegevs path-siorksheeh.ory th-worksheet
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